











3. 20 pts. The gray scale image I; shown below has 8-bit pixels. This image was
thresholded to obtain the binary image Iy, which is also shown below. In I, the
pixel value 255 (WHITE) represents LOGIC_ONE and the pixel value zero (BLACK)
represents LOGIC_ZERO.
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Binary morphological OPEN and CLOSE operations were performed on the image I
using a 5 x 5 diamond-shaped structuring element. The resulting images are shown

as J1 and Js below.

J2

OPEN

Determine which image is the result of the OPEN operation and which is the re_s'ultF of

cLoseE

the CLOSE operation. Explain your answer in the space provided on the next page.

3









5. 20 pts. Draw lines to match the images with their log-magnitude DFT spectra.




